				Insituform T	echnologies, LLC	Atlantic Pip	e Services, LLC	SAK Cons	truction, LLC		Inliner S	ner Solutions, LLC		Vortex	Services, LLC	
Item No.	Description	Unit	Approx. Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total		Unit Price	Total		Unit Price	Total	
100	Contingency	LS	1	\$ 100,000.00	\$100,000.00	\$ 100,000.00	\$100,000.00	\$ 100,000.00	\$100,000.00	Ş	100,000.00	\$100,000.00		100,000.00	\$100,000.00	
101.1	Mobilization for Work Order Total Less Than \$15,000	EA	5	\$ 7,887.00	\$39,435.00	\$ 2,000.00	\$10,000.00	\$ 1,600.00	\$8,000.00	ç	7,500.00	\$37,500.00	\$	4,000.00	\$20,000.00	
101.2	Mobilization for Manhole Rehabilitation (if less than 3 manholes)	EA	5	\$ 5,258.00	\$26,290.00	\$ 3,000.00	\$15,000.00	\$ 2,150.00	\$10,750.00	Ş	6,323.00	\$31,615.00	\$	4,000.00	\$20,000.00	
101.03	Emergency Mobilization	EA	5	\$ 5,374.00	\$26,870.00	\$ 2,500.00	\$12,500.00	\$ 2,650.00	\$13,250.00	ç	12,646.00	\$63,230.00	\$	1,500.00	\$7,500.00	
102-60	Work Zone Signs	E.D.	800	\$ 4.20	\$3,360.00	\$ 4.40	\$3,520.00	\$ 4.00	\$3,200.00	Ş	6.00	\$4,800.00	\$	4.50	\$3,600.00	
102-74-1	Barricades Type I or II	E.D.	1,500	\$ 4.20	\$6,300.00	\$ 4.40	\$6,600.00	\$ 4.00	\$6,000.00	Ş	5.00	\$7,500.00	\$	5.00	\$7,500.00	
102-74-2	Cones	E.D.	5,000	\$ 3.20	\$16,000.00	\$ 3.30	\$16,500.00	\$ 3.00	\$15,000.00	ç	4.00	\$20,000.00	\$	3.75	\$18,750.00	
102-75-1	Light towers	E.D.	100	\$ 268.10	\$26,810.00	\$ 280.50	\$28,050.00	\$ 270.00	\$27,000.00	ç	346.00	\$34,600.00	\$	275.00	\$27,500.00	
102-75-2	Flagman	HRS	200	\$ 57.50	\$11,500.00	\$ 60.50	\$12,100.00	\$ 80.00	\$16,000.00	ç	75.00	\$15,000.00	\$	185.00	\$37,000.00	
102-76	Arrow Board	E.D.	100	\$ 15.80	\$1,580.00	\$ 16.50	\$1,650.00	\$ 26.00	\$2,600.00	ç	20.00	\$2,000.00	\$	25.00	\$2,500.00	
102-77	Variable Message Board	E.D.	80	\$ 36.80	\$2,944.00	\$ 38.50	\$3,080.00	\$ 130.00	\$10,400.00	ç	3 44.00	\$3,520.00	\$	50.00	\$4,000.00	
0408.2360	Cured in Place Pipe for 8" Dia. Gravity Sewer (.236 inch thick)	LF	15,000	\$ 35.60	\$534,000.00	\$ 40.00	\$600,000.00	\$ 41.50	\$622,500.00	ç	45.00	\$675,000.00	\$	41.00	\$615,000.00	
0410.2950	Cured in Place Pipe for 10" Dia. Gravity Sewer (.295 inch thick)	LF	6,000	\$ 42.00	\$252,000.00	\$ 45.00	\$270,000.00	\$ 48.50	\$291,000.00	ç	55.00	\$330,000.00	\$	49.00	\$294,000.00	
0412.2950	Cured in Place Pipe for 12" Dia. Gravity Sewer (.295 inch thick)	LF	4,000	\$ 51.10	\$204,400.00	\$ 46.00	\$184,000.00	\$ 55.50	\$222,000.00	* \$	61.00	\$244,000.00	\$	54.00	\$216,000.00	
0415.2950	Cured in Place Pipe for 15" Dia. Gravity Sewer (.295 inch thick)	LF	3,000	\$ 65.20	\$195,600.00	\$ 60.00	\$180,000.00	\$ 78.00	\$234,000.00	ç	71.00	\$213,000.00	\$	70.00	\$210,000.00	
0418.3540	Cured in Place Pipe for 18" Dia. Gravity Sewer (.354 inch thick)	LF	3,000	\$ 89.00	\$267,000.00	\$ 79.00	\$237,000.00	\$ 100.00	\$300,000.00	ç	89.00	\$267,000.00	\$	93.00	\$279,000.00	
0421.4130	Cured in Place Pipe for 21" Dia. Gravity Sewer (.413 inch thick)	LF	1,500	\$ 108.35	\$162,525.00	\$ 106.00	\$159,000.00	\$ 142.00	\$213,000.00	ç	114.00	\$171,000.00	\$	120.00	\$180,000.00	
0424.4720	Cured in Place Pipe for 24" Dia. Gravity Sewer (.472 inch thick)	LF	1,500	\$ 126.30	\$189,450.00	\$ 128.00	\$192,000.00	\$ 157.00	\$235,500.00	ç	136.00	\$204,000.00	\$	147.00	\$220,500.00	
0427.4720	Cured in Place Pipe for 27" Dia. Gravity Sewer (.472 inch thick)	LF	300	\$ 128.60	\$38,580.00	\$ 143.00	\$42,900.00	\$ 178.00	\$53,400.00	Ş	149.00	\$44,700.00	\$	173.00	\$51,900.00	

				Ins	situform Te	chnologies, LLC	А	tlantic Pipe	e Services, LLC		SAK Const	truction, LLC	Inliner So	olutions, LLC		Vortex S	Services, LLC
Item No.	Description	Unit	Approx. Quantity	U	nit Price	Total	Uı	nit Price	Total	ι	Jnit Price	Total	Unit Price	Total	U	nit Price	Total
0430.5310	Cured in Place Pipe for 30" Dia. Gravity Sewer (.531 inch thick)	LF	1,000	\$	204.15	\$204,150.00	\$	165.00	\$165,000.00	\$	199.00	\$199,000.00	\$ 175.00	\$175,000.00	\$	207.00	\$207,000.00
0436.7090	Cured in Place Pipe for 36" Dia. Gravity Sewer (.709 inch thick)	LF	780	\$	245.60	\$191,568.00	\$	255.00	\$198,900.00	\$	277.00	\$216,060.00	\$ 256.00	\$199,680.00	\$	276.00	\$215,280.00
0601.08	Hydraulic Cleaning & Inspection of 8" Dia. Gravity Sewer	LF	15,000	\$	3.15	\$47,250.00	\$	3.10	\$46,500.00	\$	2.50	\$37,500.00	\$ 5.00	\$75,000.00	\$	3.50	\$52,500.00
0601.10	Hydraulic Cleaning & Inspection of 10" Dia. Gravity Sewer	LF	6,000	\$	3.15	\$18,900.00	\$	3.21	\$19,260.00	\$	2.50	\$15,000.00	\$ 5.00	\$30,000.00	\$	4.25	\$25,500.00
0601.12	Hydraulic Cleaning & Inspection of 12" Dia. Gravity Sewer	LF	4,000	\$	3.15	\$12,600.00	\$	3.85	\$15,400.00	\$	2.50	\$10,000.00	\$ 5.00	\$20,000.00	\$	4.25	\$17,000.00
0601.15	Hydraulic Cleaning & Inspection of 15" Dia. Gravity Sewer	LF	3,000	\$	5.10	\$15,300.00	\$	5.45	\$16,350.00	\$	4.25	\$12,750.00	\$ 5.00	\$15,000.00	\$	7.00	\$21,000.00
0601.18	Hydraulic Cleaning & Inspection of 18" Dia. Gravity Sewer	LF	3,000	\$	5.50	\$16,500.00	\$	6.42	\$19,260.00	\$	6.50	\$19,500.00	\$ 10.00	\$30,000.00	\$	8.25	\$24,750.00
0601.21	Hydraulic Cleaning & Inspection of 21" Dia. Gravity Sewer	LF	1,500	\$	6.30	\$9,450.00	\$	7.06	\$10,590.00	\$	6.50	\$9,750.00	\$ 10.00	\$15,000.00	\$	8.25	\$12,375.00
0601.24	Hydraulic Cleaning & Inspection of 24" Dia. Gravity Sewer	LF	1,500	\$	6.60	\$9,900.00	\$	8.34	\$12,510.00	\$	8.50	\$12,750.00	\$ 13.00	\$19,500.00	\$	11.00	\$16,500.00
0601.27	Hydraulic Cleaning & Inspection of 27" Dia. Gravity Sewer	LF	300	\$	6.85	\$2,055.00	\$	9.63	\$2,889.00	\$	10.75	\$3,225.00	\$ 16.00	\$4,800.00	\$	11.00	\$3,300.00
0601.30	Hydraulic Cleaning & Inspection of 30" Dia. Gravity Sewer	LF	1,000	\$	7.60	\$7,600.00	\$	11.23	\$11,230.00	\$	11.75	\$11,750.00	\$ 17.00	\$17,000.00	\$	16.50	\$16,500.00
0601.36	Hydraulic Cleaning & Inspection of 36" Dia. Gravity Sewer	LF	780	\$	7.90	\$6,162.00	\$	12.96	\$10,108.80	\$	14.00	\$10,920.00	\$ 20.00	\$15,600.00	\$	16.50	\$12,870.00
0602	Mechanical Cleaning of Gravity Sewer	LF	1,400	\$	7.40	\$10,360.00	\$	20.63	\$28,882.00	\$	5.25	\$7,350.00	\$ 7.00	\$9,800.00	\$	18.00	\$25,200.00
0621	Cleaning & Inspection of Tuberculated Cast Iron or Ductile Iron Sewer, less than 15" Dia.	LF	2,000	\$	21.00	\$42,000.00	\$	24.39	\$48,780.00	\$	15.00	\$30,000.00	\$ 19.00	\$38,000.00	\$	55.00	\$110,000.00
0622	Cleaning & Inspection of Tuberculated Cast Iron or Ductile Iron Sewer, 15" Dia. & greater	LF	1,000	\$	36.80	\$36,800.00	\$	34.65	\$34,650.00	\$	19.00	\$19,000.00	\$ 24.00	\$24,000.00	\$	82.00	\$82,000.00
0700	Additional Cleaning & Inspection of Gravity Sewer	LF	500	\$	3.15	\$1,575.00	\$	9.00	\$4,500.00	\$	5.25	\$2,625.00	\$ 7.00	\$3,500.00	\$	12.50	\$6,250.00
0700	Disposal of Debris	CY	800	\$	0.01	\$8.00	\$	27.00	\$21,600.00	\$	37.50	\$30,000.00	\$ 47.00	\$37,600.00	\$	1.00	\$800.00
2050	Reconnect Service Connections	EA	500	\$	145.00	\$72,500.00	\$	320.86	\$160,430.00	\$	100.00	\$50,000.00	\$ 117.00	\$58,500.00	\$	50.00	\$25,000.00
2051	Removal of Protruding Services	EA	20	\$	368.00	\$7,360.00	\$	561.51	\$11,230.20	\$	265.00	\$5,300.00	\$ 339.00	\$6,780.00	\$	400.00	\$8,000.00

				Ins	situform Te	chnologies, LLC	4	Atlantic Pipe	e Services, LLC		SAK Cons	truction, LLC		Inliner So	olutions, LLC		Vortex :	Services, LLC
Item No.	Description	Unit	Approx. Quantity	U	nit Price	Total	U	nit Price	Total	u	Jnit Price	Total	ι	Init Price	Total	Uı	nit Price	Total
2051.08	Chemical Grouting Lateral after Lining in 8" Gravity Sewer	EA	80	\$	368.00	\$29,440.00	\$	357.50	\$28,600.00	\$	365.00	\$29,200.00	\$	461.00	\$36,880.00	\$	405.00	\$32,400.00
2051.10	Chemical Grouting Lateral after Lining in 10" Gravity Sewer	EA	80	\$	368.00	\$29,440.00	\$	357.50	\$28,600.00	\$	365.00	\$29,200.00	\$	461.00	\$36,880.00	\$	405.00	\$32,400.00
2051.12	Chemical Grouting Lateral after Lining in 12" Gravity Sewer	EA	80	\$	368.00	\$29,440.00	\$	357.50	\$28,600.00	\$	365.00	\$29,200.00	\$	461.00	\$36,880.00	\$	405.00	\$32,400.00
2051.15	Chemical Grouting Lateral after Lining in 15" Gravity Sewer	EA	80	\$	368.00	\$29,440.00	\$	440.00	\$35,200.00	\$	385.00	\$30,800.00	\$	488.00	\$39,040.00	\$	460.00	\$36,800.00
2051.18	Chemical Grouting Lateral after Lining in 18" Gravity Sewer	EA	80	\$	420.00	\$33,600.00	\$	660.00	\$52,800.00	\$	400.00	\$32,000.00	\$	509.00	\$40,720.00	\$	690.00	\$55,200.00
2051.21	Chemical Grouting Lateral after Lining in 21" Gravity Sewer	EA	20	\$	475.00	\$9,500.00	\$	770.00	\$15,400.00	\$	425.00	\$8,500.00	\$	543.00	\$10,860.00	\$	800.00	\$16,000.00
2051.24	Chemical Grouting Lateral after Lining in 24" Gravity Sewer	EA	20	\$	526.00	\$10,520.00	\$	770.00	\$15,400.00	\$	475.00	\$9,500.00	\$	611.00	\$12,220.00	\$	800.00	\$16,000.00
2052	Root Removal	LF	15	\$	4.20	\$63.00	\$	610.00	\$9,150.00	\$	5.25	\$78.75	\$	7.00	\$105.00	\$	40.00	\$600.00
4800	Manhole Rehabilitation by Coating System min. 250 mils thickness	SF	800	\$	44.20	\$35,360.00	\$	66.16	\$52,928.00	\$	41.00	\$32,800.00	\$	40.00	\$32,000.00	\$	50.00	\$40,000.00
9000	Sewer Bypass with Tanker Truck	HRS	400	\$	316.00	\$126,400.00	\$	350.00	\$140,000.00	\$	200.00	\$80,000.00	\$	265.00	\$106,000.00	\$	415.00	\$166,000.00
9050.08	Sewage Bypass Pumping for 8" Dia. Sewer	LF	15,000	\$	1.00	\$15,000.00	\$	1.00	\$15,000.00	\$	1.00	\$15,000.00	\$	1.00	\$15,000.00	\$	0.75	\$11,250.00
9050.10	Sewage Bypass Pumping for 10" Dia. Sewer	LF	6,000	\$	1.00	\$6,000.00	\$	1.75	\$10,500.00	\$	1.00	\$6,000.00	\$	1.00	\$6,000.00	\$	0.75	\$4,500.00
9050.12	Sewage Bypass Pumping for 12" Dia. Sewer	LF	4,000	\$	1.60	\$6,400.00	\$	3.75	\$15,000.00	\$	1.00	\$4,000.00	\$	5.00	\$20,000.00	\$	1.00	\$4,000.00
9050.15	Sewage Bypass Pumping for 15" Dia. Sewer	LF	3,000	\$	3.15	\$9,450.00	\$	12.00	\$36,000.00	\$	1.00	\$3,000.00	\$	8.00	\$24,000.00	\$	12.00	\$36,000.00
9050.18	Sewage Bypass Pumping for 18" Dia. Sewer	LF	3,000	\$	6.30	\$18,900.00	\$	15.00	\$45,000.00	\$	1.00	\$3,000.00	\$	24.00	\$72,000.00	\$	12.00	\$36,000.00
9050.21	Sewage Bypass Pumping for 21" Dia. Sewer	LF	900	\$	29.40	\$26,460.00	\$	20.00	\$18,000.00	\$	107.00	\$96,300.00	\$	47.00	\$42,300.00	\$	30.00	\$27,000.00
9050.24	Sewage Bypass Pumping for 24" Dia. Sewer	LF	900	\$	29.40	\$26,460.00	\$	25.00	\$22,500.00	\$	107.00	\$96,300.00	\$	47.00	\$42,300.00	\$	32.00	\$28,800.00
9050.27	Sewage Bypass Pumping for 27" Dia. Sewer	LF	300	\$	31.60	\$9,480.00	\$	28.00	\$8,400.00	\$	120.00	\$36,000.00	\$	47.00	\$14,100.00	\$	55.00	\$16,500.00
9050.30	Sewage Bypass Pumping for 30" Dia. Sewer	LF	1,000	\$	31.60	\$31,600.00	\$	38.00	\$38,000.00	\$	120.00	\$120,000.00	\$	54.00	\$54,000.00	\$	90.00	\$90,000.00

				Insitufo	orm Te	chnologies, LLC	Atla	ntic Pip	e Services, LLC		SAK Cons	truction, LLC	Inliner Solutions, LLC				Vortex 5	Services, LLC	
Item No.	Description	Unit	Approx. Quantity	Unit Pr	ice	Total	Unit	Price	Total	U	nit Price	Total		Unit Price	Total	Unit Price		Total	
9050.36	Sewage Bypass Pumping for 36" Dia. Sewer	LF	780	\$ 3	86.80	\$28,704.00	\$	50.00	\$39,000.00	* \$	187.00	\$145,860.00	\$	54.00	\$42,120.00	\$	108.00	\$84,240.00	
0408.2361	Increase/Reduction of 0.059" Thickness for 8" Dia. Gravity Sewer	LF	500	\$	2.10	\$1,050.00	\$	2.49	\$1,245.00	\$	2.25	\$1,125.00	\$	3.00	\$1,500.00	\$	0.01	\$5.00	
0410.2951	Increase/Reduction of 0.059" Thickness for 10" Dia. Gravity Sewer	LF	500	\$	2.60	\$1,300.00	\$	2.66	\$1,330.00	\$	2.25	\$1,125.00	\$	4.00	\$2,000.00	\$	0.01	\$5.00	
0412.2951	Increase/Reduction of 0.059" Thickness for 12" Dia. Gravity Sewer	LF	500	\$	3.15	\$1,575.00	\$	3.22	\$1,610.00	\$	2.50	\$1,250.00	\$	4.00	\$2,000.00	\$	0.01	\$5.00	
0415.2951	Increase/Reduction of 0.059" Thickness for 15" Dia. Gravity Sewer	LF	500	\$	4.20	\$2,100.00	\$	3.88	\$1,940.00	\$	3.00	\$1,500.00	\$	6.00	\$3,000.00	\$	7.00	\$3,500.00	
0418.3541	Increase/Reduction of 0.059" Thickness for 18" Dia. Gravity Sewer	LF	500	\$	5.25	\$2,625.00	\$	4.14	\$2,070.00	\$	3.65	\$1,825.00	\$	7.00	\$3,500.00	\$	10.50	\$5,250.00	
0421.4131	Increase/Reduction of 0.059" Thickness for 21" Dia. Gravity Sewer	LF	300	\$	6.30	\$1,890.00	\$	3.90	\$1,170.00	\$	4.50	\$1,350.00	\$	9.00	\$2,700.00	\$	11.00	\$3,300.00	
0424.4721	Increase/Reduction of 0.059" Thickness for 24" Dia. Gravity Sewer	LF	300	\$	7.35	\$2,205.00	\$	6.10	\$1,830.00	\$	5.00	\$1,500.00	\$	10.00	\$3,000.00	\$	12.00	\$3,600.00	
0427.4721	Increase/Reduction of 0.059" Thickness for 27" Dia. Gravity Sewer	LF	300	\$	7.90	\$2,370.00	\$	7.57	\$2,271.00	\$	5.80	\$1,740.00	\$	12.00	\$3,600.00	\$	13.50	\$4,050.00	
0430.5311	Increase/Reduction of 0.059" Thickness for 30" Dia. Gravity Sewer	LF	300	\$	8.40	\$2,520.00	\$	7.17	\$2,151.00	\$	6.50	\$1,950.00	\$	13.00	\$3,900.00	\$	20.00	\$6,000.00	
0436.7081	Increase/Reduction of 0.059" Thickness for 36" Dia. Gravity Sewer	LF	300	\$ 1	.0.50	\$3,150.00	\$	9.50	\$2,850.00	\$	7.30	\$2,190.00	\$	16.00	\$4,800.00	\$	20.50	\$6,150.00	
				TOTAL		\$3,349,124.00	TOTAL		\$3,584,515.00	* тот	AL	\$3,908,373.75	* тс	TAL	\$3,976,630.00	тот	'AL	\$3,994,530.00	
the City of Tampa tabulation. A bidd five (5) business da	Award: Unless subsequently indicated otherwise, in a revised posting, intends to award the referenced project to the lowest bidder listed in this er aggrieved by this decision may file a protest not later than 4:30 P.M., asys from the first posting hereof, pursuant to City of Tampa Code Chapter in 3, Section 2-282, Procurement Protest Procedures. Protests not						Bids Rece	ived By:	Jim Greiner Jim Greiner, P.E. City of Tampa - Co	ntract	Administrat	tion Department							
	vith shall not be reviewed.								306 E. Jackson Stre										
						Tampa, FL 33602													

					Rowlan	d (DE) LLC	GCU, LLC				
Item No.	Description	Unit	Approx. Quantity		Unit Price	Total		Unit Price	Total		
100	Contingency	LS	1	Ş	100,000.00	\$100,000.00	\$	100,000.00	\$100,000.00		
101.1	Mobilization for Work Order Total Less Than \$15,000	EA	5	ç	4,000.00	\$20,000.00	\$	1,200.00	\$6,000.00		
101.2	Mobilization for Manhole Rehabilitation (if less than 3 manholes)	EA	5	ç	4,000.00	\$20,000.00	\$	1,500.00	\$7,500.00		
101.03	Emergency Mobilization	EA	5	Ç	5,000.00	\$25,000.00	\$	1,200.00	\$6,000.00		
102-60	Work Zone Signs	E.D.	800	ç	6.50	\$5,200.00	\$	5.75	\$4,600.00		
102-74-1	Barricades Type I or II	E.D.	1,500	Ş	6.50	\$9,750.00	\$	5.75	\$8,625.00		
102-74-2	Cones	E.D.	5,000	Ç	4.25	\$21,250.00	\$	4.30	\$21,500.00		
102-75-1	Light towers	E.D.	100	Ş	306.00	\$30,600.00	\$	364.30	\$36,430.00		
102-75-2	Flagman	HRS	200	ç	77.00	\$15,400.00	\$	78.60	\$15,720.00		
102-76	Arrow Board	E.D.	100	ç	22.00	\$2,200.00	\$	21.45	\$2,145.00		
102-77	Variable Message Board	E.D.	80	ç	49.00	\$3,920.00	\$	50.00	\$4,000.00		
0408.2360	Cured in Place Pipe for 8" Dia. Gravity Sewer (.236 inch thick)	LF	15,000	ç	49.50	\$742,500.00	\$	49.00	\$735,000.00		
0410.2950	Cured in Place Pipe for 10" Dia. Gravity Sewer (.295 inch thick)	LF	6,000	ç	61.75	\$370,500.00	\$	56.00	\$336,000.00		
0412.2950	Cured in Place Pipe for 12" Dia. Gravity Sewer (.295 inch thick)	LF	4,000	ç	67.50	\$270,000.00	\$	67.00	\$268,000.00		
0415.2950	Cured in Place Pipe for 15" Dia. Gravity Sewer (.295 inch thick)	LF	3,000	ç	90.50	\$271,500.00	\$	85.00	\$255,000.00		
0418.3540	Cured in Place Pipe for 18" Dia. Gravity Sewer (.354 inch thick)	LF	3,000	ç	109.50	\$328,500.00	\$	113.00	\$339,000.00		
0421.4130	Cured in Place Pipe for 21" Dia. Gravity Sewer (.413 inch thick)	LF	1,500	ç	140.50	\$210,750.00	\$	151.10	\$226,650.00		
0424.4720	Cured in Place Pipe for 24" Dia. Gravity Sewer (.472 inch thick)	LF	1,500	ç	5 157.00	\$235,500.00	\$	174.60	\$261,900.00		
0427.4720	Cured in Place Pipe for 27" Dia. Gravity Sewer (.472 inch thick)	LF	300	ç	180.00	\$54,000.00	\$	249.75	\$74,925.00		

				ı	Rowlan	d (DE) LLC	GCU	J, LLC
Item No.	Description	Unit	Approx. Quantity	Unit P	rice	Total	Unit Price	Total
0430.5310	Cured in Place Pipe for 30" Dia. Gravity Sewer (.531 inch thick)	LF	1,000	\$ 20	08.75	\$208,750.00	\$ 278.90	\$278,900.00
0436.7090	Cured in Place Pipe for 36" Dia. Gravity Sewer (.709 inch thick)	LF	780	\$ 2	70.00	\$210,600.00	\$ 288.85	\$225,303.00
0601.08	Hydraulic Cleaning & Inspection of 8" Dia. Gravity Sewer	LF	15,000	\$	3.50	\$52,500.00	\$ 3.25	\$48,750.00
0601.10	Hydraulic Cleaning & Inspection of 10" Dia. Gravity Sewer	LF	6,000	\$	3.50	\$21,000.00	\$ 3.50	\$21,000.00
0601.12	Hydraulic Cleaning & Inspection of 12" Dia. Gravity Sewer	LF	4,000	\$	3.50	\$14,000.00	\$ 3.85	\$15,400.00
0601.15	Hydraulic Cleaning & Inspection of 15" Dia. Gravity Sewer	LF	3,000	\$	5.00	\$15,000.00	\$ 4.20	\$12,600.00
0601.18	Hydraulic Cleaning & Inspection of 18" Dia. Gravity Sewer	LF	3,000	\$	6.75	\$20,250.00	\$ 4.70	\$14,100.00
0601.21	Hydraulic Cleaning & Inspection of 21" Dia. Gravity Sewer	LF	1,500	\$	8.50	\$12,750.00	\$ 5.25	\$7,875.00
0601.24	Hydraulic Cleaning & Inspection of 24" Dia. Gravity Sewer	LF	1,500	\$	9.50	\$14,250.00	\$ 8.40	\$12,600.00
0601.27	Hydraulic Cleaning & Inspection of 27" Dia. Gravity Sewer	LF	300	\$	10.25	\$3,075.00	\$ 10.45	\$3,135.00
0601.30	Hydraulic Cleaning & Inspection of 30" Dia. Gravity Sewer	LF	1,000	\$	11.50	\$11,500.00	\$ 13.95	\$13,950.00
0601.36	Hydraulic Cleaning & Inspection of 36" Dia. Gravity Sewer	LF	780	\$	13.00	\$10,140.00	\$ 20.90	\$16,302.00
0602	Mechanical Cleaning of Gravity Sewer	LF	1,400	\$	15.00	\$21,000.00	\$ 9.80	\$13,720.00
0621	Cleaning & Inspection of Tuberculated Cast Iron or Ductile Iron Sewer, less than 15" Dia.	LF	2,000	\$	36.00	\$72,000.00	\$ 23.75	\$47,500.00
0622	Cleaning & Inspection of Tuberculated Cast Iron or Ductile Iron Sewer, 15" Dia. & greater	LF	1,000	\$	50.00	\$50,000.00	\$ 46.05	\$46,050.00
0700	Additional Cleaning & Inspection of Gravity Sewer	LF	500	\$	13.00	\$6,500.00	\$ 14.10	\$7,050.00
0700	Disposal of Debris	CY	800	\$	28.00	\$22,400.00	\$ 50.00	\$40,000.00
2050	Reconnect Service Connections	EA	500	\$ 2	75.00	\$137,500.00	\$ 150.00	\$75,000.00
2051	Removal of Protruding Services	EA	20	\$ 3	75.00	\$7,500.00	\$ 150.00	\$3,000.00

				Rowland (DE) LLC					GCU, LLC			
Item No.	Description	Unit	Approx. Quantity		U	nit Price	Total		Unit Price	Total		
2051.08	Chemical Grouting Lateral after Lining in 8" Gravity Sewer	EA	80		\$	395.00	\$31,600.00	\$	400.00	\$32,000.00		
2051.10	Chemical Grouting Lateral after Lining in 10" Gravity Sewer	EA	80		\$	405.00	\$32,400.00	\$	500.00	\$40,000.00		
2051.12	Chemical Grouting Lateral after Lining in 12" Gravity Sewer	EA	80		\$	415.00	\$33,200.00	\$	600.00	\$48,000.00		
2051.15	Chemical Grouting Lateral after Lining in 15" Gravity Sewer	EA	80		\$	430.00	\$34,400.00	\$	700.00	\$56,000.00		
2051.18	Chemical Grouting Lateral after Lining in 18" Gravity Sewer	EA	80		\$	445.00	\$35,600.00	\$	800.00	\$64,000.00		
2051.21	Chemical Grouting Lateral after Lining in 21" Gravity Sewer	EA	20		\$	580.00	\$11,600.00	\$	900.00	\$18,000.00		
2051.24	Chemical Grouting Lateral after Lining in 24" Gravity Sewer	EA	20		\$	580.00	\$11,600.00	\$	1,000.00	\$20,000.00		
2052	Root Removal	LF	15		\$	15.00	\$225.00	\$	500.00	\$7,500.00		
4800	Manhole Rehabilitation by Coating System min. 250 mils thickness	SF	800		\$	55.00	\$44,000.00	\$	60.00	\$48,000.00		
9000	Sewer Bypass with Tanker Truck	HRS	400		\$	325.00	\$130,000.00	\$	400.00	\$160,000.00		
9050.08	Sewage Bypass Pumping for 8" Dia. Sewer	LF	15,000		\$	2.50	\$37,500.00	\$	1.00	\$15,000.00		
9050.10	Sewage Bypass Pumping for 10" Dia. Sewer	LF	6,000		\$	2.50	\$15,000.00	\$	1.50	\$9,000.00		
9050.12	Sewage Bypass Pumping for 12" Dia. Sewer	LF	4,000		\$	2.50	\$10,000.00	\$	2.00	\$8,000.00		
9050.15	Sewage Bypass Pumping for 15" Dia. Sewer	LF	3,000		\$	4.50	\$13,500.00	\$	7.50	\$22,500.00		
9050.18	Sewage Bypass Pumping for 18" Dia. Sewer	LF	3,000		\$	8.00	\$24,000.00	\$	10.00	\$30,000.00		
9050.21	Sewage Bypass Pumping for 21" Dia. Sewer	LF	900		\$	10.00	\$9,000.00	\$	20.00	\$18,000.00		
9050.24	Sewage Bypass Pumping for 24" Dia. Sewer	LF	900		\$	16.50	\$14,850.00	\$	30.00	\$27,000.00		
9050.27	Sewage Bypass Pumping for 27" Dia. Sewer	LF	300		\$	19.50	\$5,850.00	\$	40.00	\$12,000.00		
9050.30	Sewage Bypass Pumping for 30" Dia. Sewer	LF	1,000		\$	25.00	\$25,000.00	\$	50.00	\$50,000.00		

								工		
						Rowlar	nd (DE) LLC		GCI	J, LLC
Item No.	Description	Unit	Approx. Quantity		Unit	Price	Total		Unit Price	Total
9050.36	Sewage Bypass Pumping for 36" Dia. Sewer	LF	780		\$	30.00	\$23,400.00	۶	\$ 60.00	\$46,800.00
0408.2361	Increase/Reduction of 0.059" Thickness for 8" Dia. Gravity Sewer	LF	500		\$	4.25	\$2,125.00	;	\$ 5.00	\$2,500.00
0410.2951	Increase/Reduction of 0.059" Thickness for 10" Dia. Gravity Sewer	LF	500		\$	5.00	\$2,500.00	,	\$ 6.00	\$3,000.00
0412.2951	Increase/Reduction of 0.059" Thickness for 12" Dia. Gravity Sewer	LF	500		\$	5.25	\$2,625.00		\$ 7.00	\$3,500.00
0415.2951	Increase/Reduction of 0.059" Thickness for 15" Dia. Gravity Sewer	LF	500		\$	6.25	\$3,125.00	,	\$ 8.00	\$4,000.00
0418.3541	Increase/Reduction of 0.059" Thickness for 18" Dia. Gravity Sewer	LF	500		\$	7.50	\$3,750.00	,	\$ 9.00	\$4,500.00
0421.4131	Increase/Reduction of 0.059" Thickness for 21" Dia. Gravity Sewer	LF	300		\$	7.85	\$2,355.00	,	\$ 10.00	\$3,000.00
0424.4721	Increase/Reduction of 0.059" Thickness for 24" Dia. Gravity Sewer	LF	300		\$	11.25	\$3,375.00		\$ 11.00	\$3,300.00
0427.4721	Increase/Reduction of 0.059" Thickness for 27" Dia. Gravity Sewer	LF	300		\$	12.75	\$3,825.00		\$ 12.00	\$3,600.00
0430.5311	Increase/Reduction of 0.059" Thickness for 30" Dia. Gravity Sewer	LF	300		\$	15.25	\$4,575.00		\$ 15.00	\$4,500.00
0436.7081	Increase/Reduction of 0.059" Thickness for 36" Dia. Gravity Sewer	LF	300		\$	25.00	\$7,500.00	ç	\$ 20.00	\$6,000.00
					TOTAL		\$4,225,765.00	Т	OTAL	\$4,380,930.00
Notice of Intent to	Award: Unless subsequently indicated otherwise in a revised posting									
the City of Tampa	tice of Intent to Award: Unless subsequently indicated otherwise, in a revised posting, City of Tampa intends to award the referenced project to the lowest bidder listed in this ulation. A bidder aggrieved by this decision may file a protest not later than 4:30 P.M., (5) business days from the first posting hereof, pursuant to City of Tampa Code Chapter			В	ids Rece	ived By:	Jim Greiner	\perp		
							Jim Greiner, P.E.			
	fricie V, Division 3, Section 2-282, Procurement Protest Procedures. Protests not forming therewith shall not be reviewed.						City of Tampa - Cont		on Department	
							306 E. Jackson Stree	t -	4N	
							Tampa, FL 33602	\perp		